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A% 28] 24 817 59 28 4 69 14
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o4 i}y 263 682 338 344 74 474 134
Z:N ilg 62 170 83 87 11 111 48
e Hy 28 111 61 50 9 15 27
ES i) 432 1,117 529 588 132 746 239
t T 209 538 244 294 46 365 127
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5 Vs 83 208 94 114 21 156 31
i Hy 199 411 173 238 42 281 88
e S =i 154 384 209 175 36 302 46
+ =] 802 2,292 1,131 1,161 350 1, 630 312
5 = 416 1,072 541 531 153 7317 182
%5 il 646 1, 484 769 715 265 1,082 137
i ) ¥ ] 576 1,429 714 715 173 1,042 214
i Fi 3 e 581 1,203 648 555 156 934 113
B % & 1 T H 197 378 163 215 70 300 8
H % & 2 T H 177 3717 194 183 58 272 A7
B #% & 3 T H 129 292 136 156 46 194 52
2 ® A& 1 7T H 274 61 373 388 198 517 46
= B A 2 T H 563 1,307 704 603 301 980 26
X W & 3 T H 328 738 393 345 169 547 22
AN R 103 391 196 195 57 252 82
fit 7 111 428 212 216 69 289 70
pld ‘A B 195 718 357 361 89 468 161
= pa) 181 696 343 353 111 450 135
T H 151 441 220 221 54 296 91
X ] 267 698 353 345 97 490 111
v # ‘A 242 697 346 851 182 503 62
R H iy] 1,340 3,163 1,573 1,590 475 2,393 295
ilfs N HT 1,476 3,494 1,873 1,621 544 2,659 291
7 {t 273 831 408 423 155 584 92
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+ & 55 48 175 81 94 29 106 40
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E H 172 639 303 336 99 412 128
1 H 318 759 346 413 89 439 231
il [ 98 324 152 172 31 216 1
K # 23 94 54 40 8 67 19
g £ N 75 220 121 99 37 146 37
-5 & il 30 100 49 51 12 65 23
£ Il 20 81 .39 42 7 50 24
f i 23 69 31 | 38 10 42 17
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#H = 92 855 181 | 174 47 217 91
= B} 117 444 220 224 62 264 118
=] A i 30 109 56 53 14 72 23
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H R 8| 9 7 2 0 9 0
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% % 17 45 29 16 5 35 5
A IS 21 93 50 43 16 57 20
A K g 110 309 157 152 54 209 46
Ll Z fE 68 203 110 93 26 141 36
H a 150 455 233 222 49 324 82
® 0 FH 275 624 351 273 71 461 86
il = 72 273 132 141 37 181 55
i ¥ i} 42 166 82 84 20 110 36
AN i 7K 169 495 257 238 78 335 82
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PN 15 925 2,302 1,291 1,011 564 1,610 128
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® = H 24 X X X X X X X
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B F 76 161 84 77 19 1138 29
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= I3 10 32 15 17 1 24 7
i A 0 0 0 0 0 0 0
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= H B X » kK 730 1,110 723 387 130 934 16
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i S | T H 0 0 0| 0 0 0 0
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2 = 2 T H 1,086 2,790 1,431 1, 359 604 2,088 98
Z % 3 T H 279 935 471 164 98 785 52
m B & 1 T H 996 2,134 1,045 1,089 457 1, 651 26
m B W 2 T H 670 1, 860 905 955 385 1,397 78
m B & 3 T H 19 23 17 6 0 21 2
m B # 4 T H 740 1, 754 927 8217 272 1, 361 121
m B & 5 T H 941 2,003 1,060 943 431 1,501 71
m B & 6 T H 190 283 165 118 52 229 2
B ® & 1 T H 583 1,726 845 881 241 1,369 116
% B & 2 T H 404 1,289 596 693 288 923 78
¥ B & 3 T H 991 2,261 1,196 1, 065 582 1,626 53
E & 1 T H 213 747 370 377 149 556 42
* & 2 T H 297 1,083 508 575 218 813 52
£ & 38 T H 543 1,023 506 517 211 19 33
F & 4 T H 352 1,226 603 623 155 998 73
£ & 5 T H 291 1,051 523 528 280 732 39
= & 6 T H 270 896 432 464 243 614 39
xE & 7 T H 550 1,579 778 801 329 1,187 63
5 1 T H 721 2, 434 1,207 1,227 614 1,757 63
= & 2 T H 208 729 346 383 139 5417 43
& 3 T H 1,346 2,219 1,182 1,087 321 1,838 60
th /& 4 T H 632 1, 847 891 956 455 1,323 69
m & 5 T H 0 0 0 0 0 0 0
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